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Q.No: 1 Lord Hardinge was attacked with a bomb in 1912, which revolutionary did this work?
2622069

s gfeT R 1912 § 57 J gH a1 a1 o1, I8 &1 9 sifaert 3 far ur?

Rash Behari Bose

A
g faerd o
Ram Prashad Bismil
B
I T fafd
Bhagat Singh
C
i g
Ambalal Sarabhai
D

SETATd HRTUTS
Correct Ans : A

Subject : General Knowledge graduate

Q.No: 2 Which of the following states does not have a connection to the H.V.]. pipeline?
2624574

Fofifea 7 3 59 350 31 H.V.) TRUARST 3 S8 96 T8 872
Madhya Pradesh

A
T U
Gujarat
B
ToRTd
Maharashtra
C
HERTY
Uttar Pradesh
D

IR TR

Correct Ans : C
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Subject : General Knowledge graduate

Q.No: 3 Dhamoni Urs fair is held in April-May at Dhamoni in Sagar district at the shrine (Majhar) of:
2642724

YT I A eld-As H OrR o & 4 7 g #eR W SR fhar Siar 872

Yaqub Ali
A

qIHa 3t

Mastan Shah Vali
B

A MG qeit

Sulayman Khan
C

gau= @=

Ayyub Ahmed
D

3gd 3fgHq
Correct Ans : B

Subject : General Knowledge graduate

Q.No: 4 Where is Christ Church, a true-blue building from the colonial era, located in Madhya Pradesh?
2651276

e Tex & Sfufalkie I 3 Ue Fell--iel SAR, HTeve 99 Hal fUd 8?2

Gwalior
A

wiferR

Jabalpur
B

SIEYY

Pachmarhi
C

RELL

Satna
D

GCELE

Correct Ans : C

Subject : General Knowledge graduate

Q.No: 5  Madhya Pradesh has a total forest area of
2651854

T YR BT $d a7 & K
A 50%

GET IT ON
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50%

12%

12%

17.67%

17.67%

30.72%

30.72%
Correct Ans : D

Subject : General Knowledge graduate

Q.No: 6 In Dravidian architecture, 'Vritta' represents which shape of architecture?
2674538

Sfag RIgsar ¥, ‘9 RITD & 59 UHR & SHTHR $ il 872

square
A
FfeR
rectangular
B
STAATPIR
elliptic
C
SBTPR
circular
D
TP R

Correct Ans : D

Subject : General Knowledge graduate

Q.No: 7 How many members were given to the Executive Council of the ‘Governor-General of Bengal’ in the Regulating Act of 1773?
2680562

1773 & VAT Uae & '§d & Ta-R-oFRd’ B SRAGR! IRue B fba Jew faw 7 32

1
A

1

2
B

2
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a4
Correct Ans : D

Subject : General Knowledge graduate

Q.No: 8  Which of the following is a drum instrument?

2680751
Frafefed & § $H-w1 eid arg 97 82
Kamanche
A
FHd
Rabab
B
Xq
Kanjira
C
HiorT
Ravanhattha
D
Iqrerer

Correct Ans : C

Subject : General Knowledge graduate

GET IT ON

Google Play

Q.No: 9  As per the Union Budget 2020-21, by what target year does the Government target to achieve Rs. 1 lakh crore fisheries’ exports?

2681203

FT ToIe 2020-21 & AR, WHR 5 I8 a9 T 0l &) T a8 TR IUT b UgaT dredl 82

2022-23
A

2022-23

2023-24
B

2023-24

2024-25
C

2024-25

2025-26
D

2025-26

Correct Ans : C

Subject : General Knowledge graduate
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Q.No: 10 Which of the following options represents the current shareholding in the National Housing Board (as of December 2022)?
2681222

frofafed # § $19 a1 e I emam a1 (RRdeR 2022 d@) # adam YR &1 ufaffia #=ar 82

RBI - 50%, Union Government - 50%

A
RIS - 50%, F§ PR - 50%
RBI - 100%
B
JRSISATE - 100%
Union Government - 100%
C
F5 WHR - 100%
RBI - 30%, Union Government - 40%, SEBI - 30%
D

RIS - 30%, F% THR - 40%, Fdl - 30%
Correct Ans : C

Subject : General Knowledge graduate

Q.No: 11  Which Nobel Laureate considered the major goal of progress as increasing freedom (or decreasing unfreedom)?
2683487

59 Ted GBHR GoraT A WIfd & U9 96T B I6al Waadl (A1 WA B HH HRAT) & =Y J TR

James Heckman

A
S T EA
Arvind Subramanian
B
Srfdg gemoita=
Richard Thaler
C
REEREH
Amartya Sen
D

3 A9

Correct Ans : D

Subject : General Knowledge graduate

Q.No: 12 Select the appropriate statement.
2683543
I) According to Ratzel, "Human geography is the study of the shifting interaction between the restless man and the unstable earth."

IT) According to Ellen C. Semple, the study of human geography focuses on how unstable Earth and restless Man have changed over time.

UG BYT BT T4 B
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1) X9 & SR, "G iid s et iR SRR gt & i gaad! Sradid &1 SierdH gl
11) ToH S0 & SR, I 7d &1 e 39 91d |R diad § [ T00 & MY SRR gt 3R oo 79 &Y §6d T g

Only I is correct

A
Paa IE §
Only II is correct
B
Fad II 98 &
Both I & II are correct
C
1 3R 11 g & §
Neither I nor II is correct
D

TRIIRAT I w7

Correct Ans : B

Subject : General Knowledge graduate

Q.No: 13 Who invented the World Wide Web?

2684894
IR IZS 99 BT SHIASHR foem o 12
Tim Berners-Lee
A
fem aeid-<t
Bill Gates
B
forar ew
Steve Jobs
C
wa sifeq
Mark Zuckerberg
D

U Tt
Correct Ans : A

Subject : General Knowledge graduate

Q.No: 14  Which of the following countries is not a member of the G7?

2684951
fFofifed o @ $1F9 W W G7 BT Jou Tl 22
Canada

A
TS

B France
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pan)

China
C

L]

Japan
D

CICIGE

Correct Ans : C

Subject : General Knowledge graduate

Q.No: 15 1In the following, select the false statements regarding the composition of the National Commission for Backward Classes?
2685565

Frafafea & g s o o & WRa & HeY & # oid Hul &1 997 Sifee?

There is a chairman, a vice-chairman and four other members.

A

TS W4 TP SUTHE T4 IR 37 e 8 8

There is a Chairman and a Vice-Chairman and three other members.
B

T JUI4f T4 TP IUTH Td A 39 e € §

There is a Chairman and a Vice-Chairman and five other members.
C

T JuIef T4 TP SUTH Td Ui 39 W € §

There is a Chairman and a Vice-Chairman and seven other members.
D

TS e T4 Toh SUTHE T4 HId 37 e gid g
Correct Ans : B

Subject : General Knowledge graduate

Q.No: 16 invented both the first artificial heart and the first artificial kidney dialysis machine.
2732799

_ 3 Usd $H g 3R Ugd AN Taf SHferii A= S o1 onfawer fbar |

Willem Kolff
A
faow siew
Joseph Burckhalter
B
RAE gHEeey
Robert Seiwald
C

Fad Hrares
D Eli Olds
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Tt sitegw

Correct Ans : A

Subject : General Knowledge graduate

Q.No: 17 Marco Polo was from which of the following country?

2733347
! gren Fafafed & 9 fra g 9 92
Portugal
A
geTe
Italy
B
geat
Morocco
c
TRa
Spain
D
G|

Correct Ans : B

Subject : General Knowledge graduate

Q.No: 18 Select the synonym of the given word.

2621398
Accumulate
A Improve
B Deepen
C Gather
D Scatter

Correct Ans : C

Subject : General English graduate

Q.No: 19 Select the synonym of the given word.

2621402

Hazardous
A Risky
B Noted
C Laughable
D Involved

Correct Ans : A

Subject : General English graduate

Q.No: 20

2631580 Select the correctly spelt word.

A Weird
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B Wayther
C Wadnesday
D Worthwile

Correct Ans : A

Subject : General English graduate

Q.No: 21 Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No
2637651 gypstitution required.

(For years I do my washing by hand;) then last year I bought a washing machine and I must say it has made washing much easier.
A For years I did my washing over hand
B For years I am doing my washing by hand
C For years I have done washing by hand
D No improvement

Correct Ans : C

Subject : General English graduate

Q.No: 22 In the following question, the sentence/passage is split into four parts and named P, Q, R and S. These four parts are not given in their
2637703 proper order. Read the sentence and find out which of the four combinations is correct and mark it.

P. Which is independent of the specific characteristics of the medium
Q. In information theory, an entropy encoding is a lossless data compression scheme
R. To each unique symbol that occurs in the input

S. One of the main types of entropy coding creates and assigns a unique prefix-free code
A RSPQ
B QPSR
C PSQR
D RQPS
Correct Ans : B

Subject : General English graduate

36%05:22633 Select the correctly spelt word.
A occurrence

B occurrence

C occurance

D ocurrance

Correct Ans : B

Subject : General English graduate

Q.No: 24 In the following question, out of the four alternatives, select the alternative which is the best substitute for the phrase.
2665375
Abnormal craving for food

A Lypemania
B Nosomania
C Naruomania
D Sitomania

Correct Ans : D
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Subject : General English graduate

Q.No: 25 1In the below question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which
2676274 pegt expresses the same sentence in Indirect/Direct speech.

"Why, Mrs. Radcliffe!" he said loudly, "What glorious weather!"
A He exclaimed loudly to Mrs. Radcliffe on the gloriousness of the weather.
B He exclaimed loudly that the weather was glorious to Mrs. Radcliffe.
C He exclaimed loudly on the gloriousness of the weather to Mrs. Radcliffe.
D He exclaimed loudly to Mrs. Radcliffe that the weather was glorious.

Correct Ans : D

Subject : General English graduate

Q.No: 26 In the below question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which
2676338 pest expresses the same sentence in Indirect/Direct speech.

'T don't know what you're talking about!" said Ruth.
Ruth exclaimed that she didn't know what I was talking about.
Ruth exclaimed that she doesn't know what I am talking about.

Ruth exclaimed that she doesn't know what I was talking about.

o 0O W »

Ruth exclaimed that she didn't know what I am talking about.
Correct Ans : A

Subject : General English graduate

Q.No: 27 In the below question, a part of the sentence is bracketed. Below are given alternatives to the bracketed part which may improve the
2676837 gentence. Choose the correct alternative. In case no improvement is required, choose 'No Improvement' option.

Thermal power plants-(TPPs) consume significant amounts of water (at the electricity generation process).
Beneath the electricity generation process
Under the electricity generation process

During the electricity generation process

o 060 w >

No improvement
Correct Ans : C

Subject : General English graduate

Q.No: 28 In the sentence, identify the segment which contains the grammatical error.
2677442

The king and queen were seated not far away; and soon, a number of dish were brought in for dinner.
a number of dish
the king and queen

not far away

o 0O @ >

no error
Correct Ans : A

Subject : General English graduate
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Q.No: 29 In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the
2686803 appropriate option. If a sentence is free from error, select No Error.

Neither the employees nor their manager were ready to help the poor woman.
A Neither the employees
B nor their manager were ready to
C help the poor woman.
D No error

Correct Ans : B

Subject : General English graduate

Q.No: 30 In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the
2686884 yppropriate option. If a sentence is free from error, select No Error.

When societies take positions against the consensus of science, for perceived economic or ideological gains, they put themselves on risk of
certain failure in the course of time.

A When societies take positions against the consensus of science,

B for perceived economic or ideological gains,

C they put themselves on risk of certain failure in the course of time.
D No Error

Correct Ans : C

Subject : General English graduate

Q.No: 31 In the question given below, a set of four sentences A, B, C, D is given, which when properly sequenced, form a coherent paragraph.
2689708 Arrange the sentences in the correct order, and mark the correct order as your answer.

A. The likelihood of an accident is determined by how carefully the motorist drives and how carefully the pedestrian crosses the street
B. An accident involving a motorist and a pedestrian is such a case.
C. Each must decide how much care to exercise without knowing how careful the other is

D. The simplest strategic problem arises when two individuals interact with each other, and each must decide what to do without knowing
what the other is doing.

A ABCD
B ADCB
C DBCA
D DBAC

Correct Ans : D

Subject : General English graduate

Q.No: 32 Select the antonym of the given word.

2692969

LIVELY
A sharp
B sluggish
C bubbly
D active

Correct Ans : B

Subject : General English graduate


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

Q.No: 33 Select the most appropriate synonym for the given word.

2727924
QUEST
A Path
B Destination
C Search
D Route

Correct Ans : C

Subject : General English graduate

Q.No: 34 Select the most appropriate word for the given group of words.
2729342
A system of government by the wealthy class.

Democracy.

A

B Plutocracy.
C Theocracy.
D

Autocracy.
Correct Ans : B

Subject : General English graduate

Q.No: 35 Which of the following addresses is a class A address?

2635717
Frafifd & § $H-31 199 w9 A 19 77
121.12.12.248

A
121.12.12.248
130.12.12.248

B
130.12.12.248
128.12.12.248

c
128.12.12.248
129.12.12.248

D

129.12.12.248
Correct Ans : A

Subject : General Computer Graduate

Q.No: 36 CSS is related with computer, what is its full form?
2635810

CSS &1 et HTEX ¥ §, T9HT Hd BIF &1 82

Cellist style sheets

Afere wrgd Mew

GET IT ON

Google Play
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Catalyst style sheets

B
Ferfere werza Hiew
Cascading style sheets
C
FHEN wrzw fiew
Cast style sheets
D

PR wid e
Correct Ans : C

Subject : General Computer Graduate

Q.No: 37 The currently selected cell address is displayed in .
2636093

T T A TR A e g ®

Ribbon
A
e
Menu Bar
B
IR
Name Box
C
0 aie
Editing
D
wfsfén

Correct Ans : C

Subject : General Computer Graduate

Q.No: 38 What does "Cache Miss" mean to you?
2636857

" " o7 MU T . A 82

Occurs as a result of an unsuccessful attempt to accumulate a portion of the data in the cache

P A T P TP R B FH H P BT YA P URUMHEEY gl

Occurs as a result of an unsuccessful attempt to synthesize a portion of the data in the cache

P A T P TP R B ARG (synthesize) I P JAEA UGN P URUTHEET gial &

Occurs as a result of an unsuccessful attempt to collect a portion of the data in the cache

P H I P TP 3 B 3P P P TG YA $ TRUTHEEY gl &

D Occurs as a result of an unsuccessful attempt to read or write a portion of the data in the cache
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P A I P TP W ) ygn a1 @ & 3Fd Y & TRUTHEEY gl @

Correct Ans : D

Subject : General Computer Graduate

Q.No: 39 Which of the following keeps hackers from getting into a network by acting as a gateway?
2636950

o & 9 PH-U1 759 31 Ted & U H S FP ead § o ¥ Adbd1 82

Time bomb
A

CIgH 9H

Firewall
B

BRRArd

Worms
C

ard

Hackers
D

L

Correct Ans : B

Subject : General Computer Graduate

Q.No: 40 RAM is and
2638835
= IR o
Volatile, Permanent
A
Jidesd, e
Non-Volatile, Temporary
B
A1 didersd, TR
Non-Volatile, Permanent
C
i didersd, WAHe
Volatile, Temporary
D

Jiciersd, TR

Correct Ans : D

Subject : General Computer Graduate

GET IT ON

Google Play

Q.No: 41 Your computer has just stopped working and screen is stuck (also known as the Blue Screen of Death). You are trying to decide what has

2638939 (5ysed the error. What is the most likely possibility?
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3MUF HHLR 7 B HAT 9 IR 31 § 3R T B (stuck) TS § (P & WA 3iTh SY ft BT T 8) | 31T Tg T B HT YA IR @ ¢ [ 159 BROT
T IR g 81 TN 3 TuraT @ 82

A network error

A

Th Acah Zﬁ (error)

A multimedia file
B

TP AT wiga

A background process
C

TS JHUTSS ufthar

A system device driver
D

T Riwew fEarga grear

Correct Ans : D

Subject : General Computer Graduate

Q.No: 42 Memory space division is referred to as

2639097
TR WY fEdier 31 F w7 Hehfa fear s 3
Paging

A
fsmr (Paging)
Segmentation

B
faursE (Segmentation)
Bifurcation

C
f&MIS (Bifurcation)
Dynamic Division

D

Tfa=fie WHRT (Dynamic Division)
Correct Ans : B

Subject : General Computer Graduate

Q.No: 43 In a computer, where do all the deleted files go?
2644903

TF H | fEefle 3t 1 ot wigd sl Il §2
Desktop

STPpary

B Recycle bin
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RGIECATE]

My computer
C

I PR

Control panel
D

Herd U a
Correct Ans : B

Subject : General Computer Graduate

Q.No: 44 The clause is an additional filter that is applied to the result set in a SQL statement.
2645100

it U Sifalad flheex § ot SQL Redle § Je uRum W arg &idr 31

Group by
A
Group by
Order by
B
Order by
Having
C
Having
Select
D
Select

Correct Ans : C

Subject : General Computer Graduate

Q.No: 45 Which of the following was the first hacktivist group?

2675309
fofafad # § ugan gfecfawe og o9 o1 ur?
WikiLeaks
A
fawteitea
Cult of the Dead Cow
B
Hee AP & ST PG
Anonymous
C
LB

D LulzSec
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[N

Correct Ans : B

Subject : General Computer Graduate

Q.No: 46 Which function key is used to open “goto dialogue box” in MS Excel?

2678261
MS Excel # ‘7lig SRQHT sia” Tie & o fa thaw &1 &1 7anT foar wimar @ 2
F2
A
F2
F5
B
F5
F7
C
F7
F11
D
F11

Correct Ans : B

Subject : General Computer Graduate

Q.No: 47 How many panes are these in backstage view in power point 2010?
2678276

TfeR UTEc 2010 H 9 =2 # I b s g2

3
A

3

5
B

5

7
C

7

9
D

9

Correct Ans : A

Subject : General Computer Graduate

Q.No: 48 Which of the following computers manages national defense radar and air traffic?
2680426
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FofaRed & ¥ S 91 $HeR AP W ISR 3R T1s AT B Teed HaT 82

Analog Computers

A
TS HHER
Hybrid Computers
B
TTEfors FogeR
Digital Computers
C
feforea dugex
Micro Computers
D

IS SR
Correct Ans : B

Subject : General Computer Graduate

Q.No: 49 What kind of computer often has a separate monitor, keyboard, and mouse?
2680433

59 PR & FYR T AHRR U A HeR, Biare 3R A gl 82

Tablet PC
A

Sadie diwit

Laptop
B

duery

Palmtop computer
C

URIETY SR

Desktop computer
D

3 o .
Correct Ans : D

Subject : General Computer Graduate

Q.No: 50 What is the function of Ctrl + HOME Key on keyboard?

2690384

PIAE R HTIT +810 BT BT 1 B 32

Goes to beginning of document
A

ST P YHATT | oAl @

Goes to beginning of current line
B

AT AT B Y F SIaT 8

GET IT ON

Google Play
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Goes to end of current line

AT A5 P 3fd | ofran @

Goes to end of the document

ST & 3fd | T ®
Correct Ans : A

Subject : General Computer Graduate

Q.No: 51 In a certain code, if:
2625266
(i) J @ K means J is K’s father.
(ii) J + K means J is K’s mother.
(iii) J x K means K is J's sister.
(iv) J $ K means K is J's brother.
If there are only two females in the family.

Then how is A related to S in the given expression?

D@A+MxR$S

% A @is ¥, afe:

(1@ KFTf g, Ko far gl

(i) +KeTef Ry, KP AR

(iii) 3 x K BT F B K, ] P 959 &1

(iv) 1 $ KT B K, I 7 W7 B

SR UfaR & Fad 3 Al B

@ T MU FSE F A, S ¥ 5T THR el &2

D@A+MxR$S

Daughter
A
&
Mother
B
At
Grandfather
C
arar
Son
D
qer

Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 52 From the given option, which answer figure can be made based on the unfolded cube in the question figure?
2630117
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feu T fomen T ¥, Uy 3Mpfd H T U T F MUR R B Tl IR AR T8 ST Govell 22

O O O
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Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 53 The given bar graph shows the distribution of all the employees in an organisation by their different age groups.
2641082

50

43 45

3E s 34
30 25
25
20 18
15
10

5

o

25-28 29-32 33-36 37-40 41-94 45-48

Find that the number of employees greater than 28 years but less than 41 years is what per cent of total number of employees in the
organisation.

fu U IR U e Frie H gt sl @t fire- R g SHgl & SER R0 B axifdr B
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43 45

ai 35 34
an 25
25
20 18
15
10

5

1]

25-28 29-32 33-36 37-40 41-44 4548

d BT 5 28 a9 F 3ifis Al 41 9 | HH HRET F Wew WTe & HHRG 3t ot WRe o1 fadn ufard 81

52.5%
A
52.5%
75%
B
75%
50%
C
50%
25%
D
25%

Correct Ans : A

Subject : General Aptitude Graduate

Q.No: 54  Which will be the second word from the following in the telephone dictionary?
2645644

T T & Fafafad & ¥ gRT Wsg SIF-91 gm?

SAJEWET
A

SAJEWET

SAJEWAT
B

SAJEWAT

SEGVAN
C

SEGVAN

SALWAR
D

SALWAR

Correct Ans : A

Subject : General Aptitude Graduate

GET IT ON

Google Play

Q.No: 55 H's wife L has only one daughter. Z is T's father's sister. B is married to T. T is C's daughter. If C is H's child, then how is T related to Z?

2663268
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HBI TR LB FIaTH 3 81 Z, THF N S dgI I BHFI A TAGNGI T, CH ARG AR C, H A TaH g, A T, Z T F Waifdra g2

Sister
A
EIal
Cousin
B
TR/ HERT/HERT/ GRT UTE - T
Daughter
C
&
Niece
D
WSt/ Heftelt

Correct Ans : D

Subject : General Aptitude Graduate

Q.No: 56 In the following question, select the missing number from the given series.
2664869

2,5,11,23,47,95,7

ffafad w8, <t TS aar ¥ 9 g S B 9 B

2,5,11,23,47,95,7

65
A

65

90
B

90

111
C

111

191
D

191

Correct Ans : D

Subject : General Aptitude Graduate

Q.No: 57 In the following question, select the related number from the given alternatives.
2664871

894 : 144 :: 278 : ?

e 77 8, w7 faepedt § ¥ Wt Tem &1 T &R
894 : 144 :: 278 : ?
A 56
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56
222

222
114

114
22

22

Correct Ans : A

Subject : General Aptitude Graduate

2.6’“7%45288 I'heva.lueofl% % (l§ +2§ ofl%)+[5— G+2—l§)]+?%—4 +4 x4ofd +161s:
12 x (13 +2§of1;)+[5— G+2—1§)]+?§—4 +4 x dof4 + 16 FTFATATE?
1/4
A
1/4
1/2
B
1/2
3/10
C
3/10
1/3
D
1/3

Correct Ans : A

Subject : General Aptitude Graduate

GET IT ON

Google Play

Q.No: 59 A shopkeeper offers 2.5% discount on cash purchases. What cash amount would Rohit pay for a cycle, the marked price of which is 3600?

2673280

TF GHMER AdHg WG W 2.5% P! FT <dT ¢ T Asfovel, ot sifdrd Ied %.3600 &, &1 Wit & fore Afed &1 fvat IR &1 Yrrae o g

3490
A

3490

3500
B

3500

C 3510
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3510

3520

3520
Correct Ans : C

Subject : General Aptitude Graduate

Q.No: 60 Directions: Three statements and Three conclusions are given in this question. Read the statements carefully and understand which of
2679761 the conclusions are correct by logically.

Statements:

Some physics is English.

No English is maths.

All maths are economics.
Conclusions:

I. Some physics is not maths.

II. Some English can be economics.

III. Some economics is not English.

A 59 vy 7 A9 o ofR A9 Py et T §) Pyl 1 e 9 U SR whEl o P @ ey @i w1 9 98 7
Y

PO Hifdet 3 1

g ff offieh T Y 71

Fft i srfemed g

oo

1. 8 ifqe! 1o T8 31

I1. $& ST iRk B Jaheht B

111 & sifeea sl =& 31

only conclusion II follow

A
Faa fFrspd 11 F1 U HE
both conclusions II and III follow
B
gl s 11 SR 11T &7 ure &Y
both conclusions I and III follow
C
g e 1 3R 11T T SrgeRr v §
all conclusions follow
D

Tt frspd ergaRy #ea §
Correct Ans : D

Subject : General Aptitude Graduate
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Q.No: 61 In question, a few statements have been given followed by some conclusions. Consider the statements to be true and answer which of the
2679895 given conclusions are correct with respect to the statements.

Statements:

A few Ostriches are Peacocks.
All Peacocks are Swans.
Some Swans are Ducks.
Conclusions:

I. A few Swans are Ostriches.

II. Some Ducks are Peacocks.

U §, 3O DU b 91¢ $S Y AT T &1 HU B I AF @R IR & 5 U ¢ By F § HH-1 BY & B

DY
% IR AR €|
wft AR &9 B
O 59 9% ¢ |
s
1. 3 &4 I &
II. % 9a8 AR g1
only conclusion I follow
A
Faq ey I Srgavor Far @
only conclusion II follow
B
Fad Frepy 11 SFERT $HaT 8
neither conclusion I nor conclusion II follows
C
T ey 1 3R 7 & e 11 3R HRar @
both the conclusions follow
D

311 freepd argRor Bea €
Correct Ans : A

Subject : General Aptitude Graduate

Q.No: 62 Fresh fruit contains 80% water and dry fruits contains 20% water. How much dry fruit can be obtained from 100 kg fresh fruits?

2695628
T Hal F 80% U 3R GE Bl H 20% TF Bl 100 T are Bt | fba @ Ba U 5 S I 82
20 kg

A
20 farm
25 kg

B
25 farm

C 30 kg
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30 ferarm

35 kg

35 frarm

Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 63 Three of the following four letter clusters are alike in a certain way and one is different. Find the odd one out.

2755673
fufefad ar sier Tugl & § M v Ffda % § 99m § ofR T era 71 fawm g
CDFG
A
CDFG
GHIK
B
GHIK
UvXY
c
uvxy
PQTU
D
PQTU

Correct Ans : C

Subject : General Aptitude Graduate

Q.No: 64 Find the wrong term in the series..
2755683
15,47, 128, 192, 216, 223

4l H 7o U J1d Hier
15, 47, 128, 192, 216, 223
223

223
192

192
216

216
47
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47
Correct Ans : C

Subject : General Aptitude Graduate

GET IT ON

Google Play

Q.No: 65 In the question below are given some statements followed by two conclusions numbered I and II. You have to take the given statements to

2755721 pe trye even if they seem to be at variance from commonly known facts.
Statements:
No run is sit.
Only a few walk is run.
No sit is stand.
Conclusions:
I. Some walk is not stand.

II. All walk is sit.

Hr feu T vy ¥ 5 FUF oIk I9F a1g & e 1 8k 11 foT T B siue T T At Y I o § Yo @ 3 wdand et @ A e g |

BY:
&1 3, Rie 7T 2.
T 8 AP, H B
1 Rie @ 78 81
oo

1. $% dlb WS T8 ¢ |
11. Wt i, R B

Either I or II follows

T A I AT IT 3R el B

Neither I nor II follows

A I E I TR AT &
Both I and II follows

1 3R II ) SRR B §
Only I follows

Pad I IRV HAT &
Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 66 What will be the value of the given expression if the signs '+' and ‘x’ are interchanged?
2755726
5x4-2+18+9

fou U TSI BT AF 1 B Afe g '+ SR 'x! Y U | ded faar w?
5x4-2:18+9
A 9
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72

72

12

12
Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 67 Petrol and kerosene are present in mixtures A and B in the proportions of 5:4 and 2:1, respectively. A 20% mixture and a 50% mixture
2617526 5re combined to create a third combination, called C. Find the initial quantity of mixture A if mixture C contains 90 liters of gasoline and
has a 30:19 petrol-to-kerosene ratio.

farsyor A 9iR B & Ui SR fAIEY T A ShRT: 5:4 3R 2:1 % YA B HIGG &1 TF 20% As0r 3R 50% e 1 U iRy e sM 3 forg feyeman st
8, R ¢ Far Srar 31 fison A B uRfiie AT 1d B8 afe o ¢ & 90 diex AN § ok USi-9-fdt % dd &7 Sigud 30:19 B

119 liters
A

1109 liters

812 liters
B

812 liters

500 liters
C

500 liters

360 liters
D

360 liters

Correct Ans : D

Subject : General Maths graduate

Q.No: 68  Find the value of the quantities-

2617843 no
(255]4,4"\21‘1‘{'1) o
16M.g4n—1)
AT &1 AT AT HifT-
no
(255]3,4"\21‘1‘{'1) o
1gMgln—10 = °

A 16
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16

2

Correct Ans : A

Subject : General Maths graduate

C22.6l\‘I‘c; 16198 If 4x? — 6x + 1 =0, then the value of 8% + (8x°) 1s:

Al ax2—6x+1=0,§, N 8+ (8¢) T AT 82

36

36
13

13
18

18
11

11

Correct Ans : C

Subject : General Maths graduate

36%37909 The length of a string between a Kite and a point on the ground is 111. If the string makes an angle 6 with the level
ground such that tan 8 = E, then how high is the kite?

e T 37 e T Rere e foig o ofrer S o e 111 v ) 2 SR eRiaret 3 e i © g6 e e & B tan © = 2 8, drwim
&1 TS Tt 27

101 m

101 .

B 105 m
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105 .

95 m
C

95 1.

108 m
D

108 .

Correct Ans : B

Subject : General Maths graduate

Q.No: 71 . 1 1 3
7 - g -
2667190 "hatis the value of 13 + 6 " '}'4 7

13246272 FARFAE?

6
A

6

12
B

12

18
C

18

9
D

9

Correct Ans : B

Subject : General Maths graduate

czzé’\|701:473.28 Find perimeter of Square Park whose area is 441 m.?
TR e 2T TR Tel SBiTg ForiT e 44131 31
50 m
A
50 #t
84 m
B
84
85m
C

85

GET IT ON

Google Play
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45 m

45

Correct Ans : B

Subject : General Maths graduate

Q.No: 73 The average of a non-zero number, its square and its cube is 127 times the number. The number is?

2672513
T IR-IF T, 5P o7 Ud 39 U B 3G 39 T BT 127 T &1 T8 I e 87
18
A
18
19
B
19
20
c
20
21
D
21

Correct Ans : B

Subject : General Maths graduate

czzé'\;)z:s?s If (a - 3) is a factor of f{A) = a® — ba’ + 4b — 12, then find the remainder
when it is divided by (a + 3)
af2 f(A) = a® - ba® + 4b - 12 FHTUEH (a - 3) &, df SUFa FE 7 5 (a + 3) G
unforg fasan o 2-
15
A
15
-15
B
-15
-54
C
-54
54
D
54

Correct Ans : C

GET IT ON

Google Play
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Subject : General Maths graduate

Q.No: 75 The speed of Vikram and Kundan are 30km/h and 40 km/h. Initially Kundan is at a place A and Vikram is at a place B. The distance
2672938 petween A and B is 650 km. Vikram started his journey 3 hours earlier than Kundan to meet each other. If they meet each other at a place
C somewhere between A and B, then the distance between C and B is.

faspm &R b Y A 30 fobeh./eier 8ik 40 fpht./Her 31 3R § o W A 3R I WM B R 81 A 3R B & & 31 gt 650 fbeft, B1 Ub-g &
forem & o s 3 0t o $ea ¥ 3 e Usd Yo BI1 A I TH-gWR T A TUT B & 9 Bl W YT WM ¢ R e 7, @ ¢ R B & I g I1d B2

220 km
A

220 fosdt

250 km
B

250 fosdt

330 km
C

330 fosht

320 km
D

320 fosft

Correct Ans : C

Subject : General Maths graduate

Q.No: 76 A completes 2/3 of a certain job in 6 days. B can complete 1/3 of the same job in 8 days and C can complete 3/4 of the work in 12 days.
2673030 Aj| of them work together for 4 days and then A and C quit. How long will it take for B to complete the remaining work alone?

A6 A o ue g & &7 2/3 YN [T FRaT 81 B ST B BT 1/3 U 8 & T T b=l § 3R C I HH B 3/4 UM 12 RA A R Ipar 813
Tt 4 T 9 Up WY B B € 3R R A 3R C M B8 <d §1 VY B Bl 3fhel T A H B Bl foha =1 T T2

3.8 days
A

3.8 fea

3.33 days
B

3.33 &7

2.22 days
C

2.22 A

4.3 days
D

4.3fF

Correct Ans : B

Subject : General Maths graduate

Q.No: 77 A can do a piece of work in 20 days and B in 30 days. They work together for 7 days and then both leave the work. Then C alone finishes
2673045 the remaining work in 10 days. In how many days will C finish the full work?
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ATH B & 20 fot T 3R B 3T & oY 30 ol § o= wopd1 /19 7 &l 9 U I1Y S oxd © 3R R 1 &1 B1s ad &1 R C 3ipd AW &1 &1

10 & & o1 FRa B1 C 3ipd [T H1H e oA & g1 e

25 days
A

25 f&

30 days
B

30 f&A

24 days
C

24 f&

20 days
D

20 faT

Correct Ans : C

Subject : General Maths graduate

Q.No: 78 Find the equation of a line passing through point P(-2, 3) and perpendicular to the line x + 2y - 3 = 0.
2674514

fig P (-2, 3) A ToRA a1l 3R XW@M x + 2y - 3 = 0 W AT G BT FHIBROT J1d B |
y+2x+7=0

A

y+2x+7=0

2y +x-7=0
B

2y +x-7=0

2y-x+7=0
C

2y-x+7=0

y-2x-7=0
D

y-2x-7=0

Correct Ans : D

Subject : General Maths graduate

.No: 79
(2268%291 Prince can complete 40% of a work in 20 days and Queen can complete i’d of the same work in

10 days. In how many days they will take to complete the work, if they work together?

ﬁvﬁﬁmm4mﬁwzoﬁﬂﬁwﬁﬁﬁmﬂswmﬁ:rﬁ‘armﬁr@ T
IEEESCEICEIRETCREC A A L )

lﬂé days
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18£ fa

183 days
2

183 o

18E days
7 43

182 f2=

=] |t

152 days
7 3D

152 fa=

Correct Ans : B

Subject : General Maths graduate

Q.No: 80 A shopkeeper sells three products A, B and C. The selling prices of A, B and C are in the ratio 6 : 8 : 9 respectively. He makes 28% profit,
2687824 339, and 35% profit on selling A, B and C respectively. If the overall profit on selling three products is of Rs.85 What is the total selling?

TP HMER - IATET A, B 3R C I=a1 21 A, B 3R C F facha Ieg S 6: 8:.9 F UG A &1 8 HHI: A, B 3R C I3 W 28% WY, 33% TH 3R
35% AIH HHT 31 I i IS Bl S99 W oI AN $.85 & ol $d [4ep! 37 872

Rs.345
A

%.345

Rs.415
B

%.415

Rs.260
C

%.260

Rs.320
D

%.320

Correct Ans : A

Subject : General Maths graduate

Q.No: 81 The base of right prism is a trapezium whose parallel sides are 17 cm and 11 cm and the distance between them is 7 cm. If the volume of
2693862 the prism is 2224. cubic cm, then the height (in cm) of the prism will be :

TP Y fsH BT 3R T T agis @ e TamiaR Yot 17 3 iR 11 I ¥ &k 37 o @t & 7 3 B1 afe o 1 maa 2224.6 o1 A+t
2, @ oo &t S (A ) I FRA

A 22.6
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22.6

24.7

24.7

27

27

22.7

22.7
Correct Ans : D

Subject : General Maths graduate

Q.No: 82 A train overtakes two persons walking along a railway track. The first one walks at 3 km/hr. The other one walks at 4 km/hr. The train
2696468 peeds 7.6 and 7.8 seconds respectively to overtake them. What is the speed of the train if both the persons are walking in the same
direction as the train?

T ¢ U ¥od OF & S71d § 99 Y@ &l @Il Y UR Bl 81 Ugdl e 3 fpdi/ger 3 fa S e 81 guT 4 farely/eer 3t 1 & Iear g1 97 B 3% UR
TR B HUA: 7.6 JHUS 3R 7.8 HUS B SHTaRIHdl ¢ dfe &1 afadd ¢ BI faxn & 9 8 € A 7 &1 71 faset 82

36 km/hr
A

36 foil/ger

54 km/hr
B

54 f&t/ger

42 km/hr
(o

42 fedt/der

81 km/hr
D

81 it/ der

Correct Ans : C

Subject : General Maths graduate

Q.No: 83 The radius of a wheel is 21 cm. how many revolution will it make in travelling 924 m?
2734431

TH qAHR ufled 3T Bar 21 It §1 924 it Bt wEn B I8 fras g@@R ame?

70
A

70

350
B

350
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200
C

200

700
D

700

Correct Ans : D

Subject : General Maths graduate

QNo: 84 typafafed F @ B1-W o, “HerRd ant” Bt 7 &2

2627718

A AR
B Bt
C QB
D Sffen

Correct Ans : D

Subject : General Hindi graduate

Q:No: 85  fafafe # & FI-1 Weg TgAfE TR BT TE) IATERY 22

2660135

A IR
B oy
C i CLd
D ECL

Correct Ans : A

Subject : General Hindi graduate

QNo: 86 freifeifa wroa-Tg! & & BH-91 fched 2=t Wil 1 W) JaTERI 87

2660232
A T, A, @ER

B TEESHI, HT41, Jal

o g, ¥, fewe

D Tas, Sfa=raTel, mEd

Correct Ans : B

Subject : General Hindi graduate

QNo: 87 pyptfia 4 & a1 g “Sa * b1 GeaaTe Ties T &2

2660350
A 3uam

B farfa

C e
D ELGIE]

Correct Ans : A

Subject : General Hindi graduate

Q.No: 88 ¢ .
5660747 fEfafed & § usdd--agaeH &1 Ul UG- HI-9T1 61 82
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A
B
C
D

3Ted-3med
FYT-TUTE
TEA-UTE

I e

Correct Ans : C

Subject : General Hindi graduate

Q.No: 89 & Y SF-91 [9hey Iugas aftie ©g &1 I8! Ieev g2

2660868

D

3T {5 Blel o5 10 B

TRy gt A AR

fom fammy afg o g

Hft T aresT yfkomy grmi

o # Wi IRE F FE-gar 9

e s Ay e g A
firg ufey a5 /%1, wIoT WY FET 32
3@ wafy § gdfl, 51 HeRT Bel 22
3q a@ e #, 3@ & off @t §
€ g3 GURI, T3-dRT e 82

AR A 99 <& T BT TS Y aral|
U A TR o s et Rz #

Correct Ans : A

Subject : General Hindi graduate

Q.No: 90
2660887

A
B
C
D

A 9 sieReiys Aurd &1 997 Pifoe-

i
w1, B
il
Sft

Correct Ans : D

Subject : General Hindi graduate

QNo: 91 frafarfrd  § - AR, Tl 1 STeRwn T 82

2661187
A
B
C
D

Jftra grr Pfaar udt 7
T wa T feraft
agfpat fia m I &
# EaR T8l ug wPHarl

Correct Ans : A

Subject : General Hindi graduate

GET IT ON
Google Play

Q.No: 92 fF=ffed w=A & Ui Fy faU MU B1 58 39 ORE HHIS PO [ I U orfuul ufkedg & S, R 30 a1e fau e faswedt & § W fawey &1 997

2661429

P
A. TP I fpaT §,
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B. forad =afad e &1 &I 3o 3% ST ©
C. I8 IHIHR W $1 Rigra Hgendr g
D. T1 39 &1 & GRM Tg &I GHRARI HA

E. f5dht o1l &t &
A ABDCE
B BDACE
C EDABC
D CDBAE

Correct Ans : C

Subject : General Hindi graduate

Q.No: 93 fypiufag @ $1H-T7 Teg, T 22

2666394
A Eat)
B wieh
C Wit
D S

Correct Ans : A

Subject : General Hindi graduate

Q.No: 94 protefag & & o 31 R s 3 27

2666496
A LINEGH
B SR
c S
D I

Correct Ans : A

Subject : General Hindi graduate

Q.No: 95  3ifar gik-ge &t 4|

2666848
P W} FU-3g = T sfadt gh =@
Iudad ufeaar & HH-I1 79 82

A T R

B P I

C dve

D ufes |

Correct Ans : A

Subject : General Hindi graduate

gg%;i“WW%%Hﬁ?ﬁmm@mgﬂwmwam&ﬂﬁﬂﬁ%@%?
A 9 WEBR e & emeiw 1

B 9 REPR frem

c 9 PR e &Y om=m 21

D T REPR frdm

Correct Ans : C

GET IT ON
Google Play
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Subject : General Hindi graduate

Q.No: 97 g g
26607718 frefifed & § qeudre ga-m & b A 82

A 3
B 5
C 2
D 6

Correct Ans : A

Subject : General Hindi graduate

QNO: 98 ' ffaferd & § PIH-91 W A" W T TANT R ST T 82

2667973

A qrg=

B RIECICaL]
C EIEC

D RIESEIC]

Correct Ans : D

Subject : General Hindi graduate

Q.No: 99 = & ¥ Iuad e o1 797 o~ Rad WH @t gfif Fifom-

2668080
Frf T R o gt El
A oI
B e
c AYBR
D aifar

Correct Ans : B

Subject : General Hindi graduate

Q.No: 100 f=fiEd g # v oA foT 7T 31 32 39 TE HHg BIoN & 379 T arigef ufiede o o1, f 3% 18 fiu U et @ 4 9e) fadey o1 9a7
2668464 gifm

A T &) Ufgdr geA w9 F frd ol @

B 399 ¢ & ot

C B BT Ul 31 oelt 1

D 39 IUF §ed BT U 3R

E TR fanar € o forg st & ogwr & @R g1y @ §
ABDCE

BDACE

EDABC

o 6060 W >

CDBAE
Correct Ans : C

Subject : General Hindi graduate
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